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Multiplication (Vertical) Name:
Solve each problem. Answers
1y 612 2) 339 3) 818 4) 553 .
x 34 x 50 x 11 X 96 '
2.
3.
4.
5) 575 6) 562 7) 289 8) 876 i
x 71 X 82 x 16 X 61 '
6.
7.
8.
9 665 10 468 11 908 12) 857 .
x 59 X 97 x 80 X 84 '
10.
11.
12.
13) 715 19 358 19 790 16) 382
13.
X 49 X 48 x 14 X 87
14,
15.
16.
17) 158 19 787 19 491 20 860
17.
X 08 X 79 x 89 x 90
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
612 339 818 553 . 20808
X 34 x 50 X 11 X 96
2 448 16,950 818 3.318 , 16,950
+ 18,360 +38,180 +49,770
20,808 8 998 53,088 3 __ 8998
. 53088
5 6 7 8
) 575 ) 562 ) 289 ) 876 s 40,825
X 71 X 82 x 16 X 61
575 1,124 1,734 876 s 46,084
+ 40,250 + 44,960 +2,890 +52.560
40,825 46,084 4,624 53.436 7. 4624
8 53,436
9 10 11 12
) 665 ) 468 ) 908 ) 857 o 39235
x 59 X 97 x 80 X 84
5 985 3276 72 640 3.428 0. 45396
+33.250 +42.120 + 68,560
39 235 45,396 71.988 1. (2,640
5 71,988
13 14 15 16
) 715 ) 358 ) 790 ) 382 s 35035
X 49 X 48 x 14 X 87
6.435 2 864 3.160 2 674 w 17184
+28.600 +14,320 +7,900 + 30,560
35.035 17.184 11,060 33.234 15 11,060
16, 33,234
17 18 19 20
) 158 ) 787 ) 491 ) 860 7 15484
X 08 X 79 x 89 x 90
1,264 7.083 4.419 77.400 s 62173
+14,220 +55.090 +39,280
15.484 62.173 43.699 0. 43,699
o 77,400
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